
Corey Woods
Text Box
                      Impervious Surfaces

House: 1240 sq. ft.
Driveway/walkway: 1505sq. ft.
Existing Porch:  218 sq. ft.
Existing Deck: 370 @ 50% = 185 sq.ft.
Pool: 475 sq.ft.
Patio 434 sq.ft.
Gravel Area: 159 sq.ft.

 Total Imp. Surfaces:  4216 sq. ft.
 
                    Proposed Impervious Surfaces
Screen Porch: 204 sq. ft.
Deck: 205 sq. ft. @ 50% = 103 sq. ft.

Total Proposed Imp. Surfaces: 307 sq. ft.

New Impervious Surface Total: 4216 sq. ft. - 185 sq. ft. (existing deck) = 4031 sq. ft. + 307 sq. ft. = Total: 4338 sq. ft.
 


          




